TRieaR T YR & R S A B e 78 WEd 2 3R 3 %967 wfid OMR SR vie 3t e gﬁ?rch‘ra' :
Candidates should open the top side of the seal of this Booklet and take Booklet No.

out the OMR Answer Sheet placed at page no. 2 and 3.

1T R YT : A

SA-IT uSlen wea-gRiaet / EXAMINATION QUESTION BOOKLET Test Booklet Series :
Time aowea 1o winues  INFORMATION TECHNOLOGY aximom Warks 130
e . IR Me A
Roll No. : Answer Sheet No. :
TeEl & ITR 34 A Use fereetteriia srgfeei @1 &arer A ug o |/ Read the following instructions carefully before you begin to answer the questions.
3IFIGAR] & fAU 31eaer Instructions to the Candidates

1. vl & I ToReell 3R s &Yl 3 Uedt 31U 57 YR¥ads! &l oifa & Ffeidaa | 1. Before you start to answer the questions you must check this booklet and
T2 o b 53 R TS (1-16) E cer B Yts AT BT HIOT B T AT al sTel ensure that it contains all the pages (1-16) and see that no page or portion
3T ORT S| SIEar) &7 218 off ST Beeht S b 357! haet 3T T o T8 thereof is missing or repeated. Candidates are also required to check that
Ten-ghiar Freh ¥ s Rie 38iar amdes Rear ¥ 3 o b Admit they have got the right question booklet strictly from the stream candidate has

: ; . NN R applied for and printed on the Admit Card i.e. Computer Science OR Information
Card 3 ©UT S7erd e A 2 3 o | =% s Technology OR Electronics. If you find any defect in this Booklet, you must

S8 YT 3 BIE e UIY, o Feprer s duet G gRADT | . get it replaced immediateiy.
2. 3NEASNR ITR-9fic ueel gRaw! H & Sucrer ot | puwr Fremad BB [ 5 QMR Answer-Sheet is within the Question Booklet. Please ensure

3MeAsTR offe o ST wderr gRamT Hean o &1 SITASR ol 72 OMR Answer-Sheet number and Test Booklet No. of Question Paper
SEHRY ¥ A Ued SUAsR ofic W By el @ et & U1 smust are same. Read the instructions printed on OMR Answer-Sheet
SNTAINMR JTR-U5H TR Tt Fra=ol 3t 72 o1 3 g1 3iR PIs FH2en Bom, T carefully before filling the information on the OMR Answer-Sheet.
o B TR 3ATUD! IR GRAHT BT He el T8l BT oI Ahdl & | Y& &1 3T You must complete and code all the details on the OMR answer sheet
24T 9% B 3 B! IUB! NTHIR FoR-Uo1eb TR R ore Frerffea wermrar we correctly failing which your answer sheet may not be evaluated. You
31T EFATRR Bt B9t | 5o Ferdelt @1 ot wu 3 urerer R siren anféwe, v must also put your signature on the OMR Answer-Sheet at the
1 BT U IR INTAIR Fe-GRAP! Bl FHgichel A Ry o1 T B | prescriped place before you actually start an§werir!q the qyestions.
e frzaret % g o R S gIT a1y ST | Rew afY, el y&fs:mstructlons must be fully complied with, failing whlch, your
. . . nswer-Sheet may not be evaluated. (For V.H. candidates these

gftediar saafleardy ot siussne Sae-effe & fraiiva 2onel we s amu & & | gerals wil be filed in b i i
. y the scribe. However, all V.H. candidates must put
3G T fererrer sraeet IS ?”%U' b sifefa, off giedier oo cdre their left-hand thumb impression at the space provided in the OMR Answer-
3T B3I BT AP &, d 3OS & Ferermet & SFerar Ut exdlar aft 32 ) Sheet. In addition, those V.H. candidates who can sign should also put their

3. siiudAsR IR-efic dar Uil & 2loft (3 dem erear &t &1 ufafarrr=n) | signatures in addition to thumb impression.)

TRNeTT AATRT P TS 371U, 3MR. BT HT oM qeim U Pider ufaferty fordtaras | 3. The OMR Answer-Sheet will be in triplicate (Original and two carbon copies).
Pl Afuel P ULAT TG 31Tl AT U dbiaiel UTATeIts of oif Adsa /A £ | Candidate has to take one carbon copy (marked as ‘candidate copy’) with
I 1S ot SFeTeaTe U H3er 3 STAGE TEaTREd) & al 3T 3 EaT) 78 BT him/her after examination and handover the original OMR along with one
& SRl | gt @S sefieary srue wrde gl & Rt oft yebre @ the- carbon copy to invigilator. If candidate fails to handover the original OMR
TEE BT ITBT T BT BT S A 597 PRy 3 off sevepT/Seast 3weard along with one carbor_1 copy to invigilato_r, his /he_r candidature will be cancelled.
5 SRR Further, if the candidate tampers with candidate OMR carbon copy and

4. o weer-ufeT 3 120 aeRiaedier Tea ¥ | Teke gea ¥ 4 R RooE claims for same, in that case also his/her candidature will be cancelled.

: ) . > | 4. This booklet consists of 120 Multiple Choice Questions. Each question has 4
(A), (B), (C) 3% (D) | Taweft aff Rexfer oF wredias weet oot dparet v faased &1 el (four) alternatives (A), (B), (C) and (D). In any case only one alternative will
TR | AR IAMUB U A 3iferen [y HE o0l A A it 3 v be the correct answer. In case if you find more than one correct answer, then

Tepea o1 gotta 2 3R 3a2 ofie & AT Ueet & ATeTel aTel SUYER oilel Y choose the most appropriate single option and darken the appropriate circle in

BT B | the answer sheet in front of the related question.
5. w9 GRA®T & & M E : 41T A AT (42 YeeT) 307 T B @pefiant (78 | 5. Question Booklet consists of two parts : Part A : Generic (having 42 questions)
yoeT) | 3FHear Bl Sl HIoN b IR et siferart F | and Part B : Tecr_mical (having 78 questions). Candidates has to attempt both
6. UID TE IR b U 1 3ics e swn iR yedies srera wR & ferw 0.25 3im parts compulsorily. . . )
FTe faa ST | 6. For each correct answer One mark will be given and for each incorrect

7 maﬁmmaimmm/aﬁaﬁam&ammﬁl Riiro g answer 0.25 marks will be deducted.
! . B B aE S et o deers o SRR AE E | I R 7. Use Black/Blue ball point Pen to darken thle circle. Ansvyer once darkened is

. not allowed to be erased or altered. Against any question if more than one
U9ET & AT U F ST Ml et o a1 & ot vefier grer 39 fore o circle is darkened, machine will allot zero mark for that question.

3ids e S ! ) 8. Do not fold answer sheet in any case.
8. fopaft oft Retfey & 3ae e ot o ?H%..' | 9. No rough work is to be done on the Answer-Sheet. Space for rough work has
9. IWR-YRADT W BIS oft TG Pl & Beelr & | TG Bt F AT sA giar F been provided in this booklet.
Zerrer fe=m o B 10. Mobile phones and wireless communication devices are completely banned
10. Te Ea/meR & AaTse Wid el JaR JAdR Aree G aE fofvg 2 in the examination hallrooms. Candidates are advised not to keep mobile
IFNedr BT 3 31U Tod A AeTa & oirdl) & b Aaraet Ha/ib 3/ dar phones/any other wireless communication devices with them even switching
e ATeIE BT e 31T e of) 37U UTRA o 3 | 5 UTGeITel abT 3T[uTetet of it off, in their own interest. Failing to comply with this provision will be

BT I TN H Sregfic IUTE ol URiOT AT ST G 36 g cprerardl considered as using unfair means in the examination and action will be taken
28 ouh, Rt S S eard og e ol e | against them including cancellation of their candidature.
> . . L | 1. Candidate should not leave the examination hall / room without
1. srzreif syt 3 gt welders @t A e S @mm% : handing over his/her Answer-Sheet to the invigilator and without
3hra zenmer ur SuReIfa wsies R saner fpu ferem udien &fcT/mat 3 1Ee oTE iani i
signing on the attendance sheet at proper place against your roll
S ABAT| B AT 3131eft B Jufrerly wss UR AR U A U AT number, further candidate should also ensure that booklet no., booklet

aft Fhekaa wea wien {6 goeie Haz, gaere AT AR AR I series and OMR Answer-Sheet No. are correctly written on attendance
gRa®! FE T o1 A fersh oS & | U A1 e WR, SNTHINR IR g sheet before signing on it, failing in doing so, may lead to

I 3TATRT AT SITEIN /gD & (paT ST Apa & | disqualification / no evaluation of OMR Answer-Sheet.
e A 3T P& o T a9 adb ULe-GRaeT «f Jei / DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.

3FHIgaR &1 =d/Name of Candidate : 3I#leaR & sx1eRR/Signature of Candidate :




PART - A
GENERIC

Direction (1-3) : Read the following information
carefully and answer question number 1-3 given
below :

In an engineering college, four students Diksha,
Shreya, Tanvi and Akriti exhibit a very strange
mix of hobbies and subject interests. One of them
studies Computer Science and plays Golf and
Lawn Tennis. Diksha and Shreya study
Mechanical engineering. Diksha plays Billiards.
Both the Mechanical Engineering students play
chess. Tanviis a student of Physics. The Physics
student plays Chess and Badminton. All the
friends play two games each and study one
subject each. One of the students also does
weight training.

4. John's house is 100 m North of his uncle’s
office. His uncle’s house is located 200 m
West of his (uncle’s) office. Kabir is the
friend of John and he stays 100 m East of
John's house. The office of Kabir is located
100 m South of his house. Then, how far
is his uncle’s house from Kabir’s office ?

(A) 200 m (B) 300 m
(C) 400 m (D) 500 m
5. In a certain code language, ‘493" means

‘Friendship Big Challenge’, ‘961" means
‘Struggle Big Exam’ and “178" means ‘Exam

Confidential Subject’. ~ What does
‘Confidential’ stand for ?

(A) 7or8 (B) 7or9

< 8 (D) 8or1l

6.  The day before the day before yesterday is
three days after Saturday. What day is it

today ?
1. How many games are played and subjects
studied by all the four students ? (A)  Tuesday (B) ~ Wednesday
C) Thursda D) Frida
@ 21 ® 32 (©) y (D) Friday
© 63 (D) 5 4 - :
Direction (7-8) : What value should come in
place of the question mark ( ?) in the series given
below ?
2. Who does not play Chess ?
(A) lesha (B) Shreya 7. 128/ 61/ Y/ 64/ 63/ S/ 32/ 65/ N/ 16/ 67/ ]/ 8/
09,G, 2 2 ?:
C) Tanvi D) Akriti
(©) Tanvi (D) Alkriti (A) 2,70,] (B) 3,70, E
(©) 4,70, E (D) 4,71, E
3.  Who studies Mechanical Engineering and
1 ,
plays Billiards : 8. BEAG, DGCI, FIEK, ? .
(A) Diksha (B) Shreya (A) HMIE (B) HKGM
(©) Tanvi (D)  Akriti (©) HGK]J (D) HKLJ
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Direction (9-13) : Read the information given
below and on the basis of the information, select
the correct alternative for each question (9-13)
given after the information.

A training college has to conduct a refresher
course for teachers of seven different subjects -
Mechanics, Psychology, Philosophy, Sociology,
Economics, Science and Engineering from
November 22 to November 29.

(i)  Course should start with Psychology.

(i) November 23, being Sunday, should be a
holiday.

Science subject should be on the previous
day of the Engineering subject.

Course should end with Mechanics
subject.

(v)  Philosophy should be immediately after
holiday.

There should be a gap of one day between
Economics and Engineering.

There should be a gap of two days between
Sociology and Economics.

9.  Which subject will be on Tuesday ?

(A) Psychology (B) Mechanics

(C) Economics (D) Sociology

10. How many days’ gap is there between
Science and Philosophy ?

(A) 1 (B) 2

C) 3 (D) No gap

11. Which subject precedes Mechanics ?

(A) Psychology (B) Mechanics

(C) Economics (D) Sociology

12. The refresher course will start with which
one of the following subjects ?

(A)

(C) Economics

Psychology (B) Mechanics

(D) Sociology

13. Which subject succeeds Science ?
(A)
(C) Engineering

Psychology (B) Mechanics

(D) Sociology

Direction (14-18) : Read the information given
below and on the basis of the information, select
the correct alternative for each question (14-18)
given after the information.

There are six women, Shalini, Divya, Ritu,
Rashmi, Nisha and Renu in a family of 12
members. There are few married couples in the
family and none of the grand children are
married. Sunil is married into the family. Rohan,
Mahesh and Jatin have a nephew Dipesh who
is the son of Rashmi. Ravi is the paternal
grandfather of Nisha. Ritu is the daughter-in-
law of Shalini. Renu is the first cousin of Dipesh.
Shalini has only three grand children. Mahesh
has two brothers and only one sister Rashmi and
a sister-in-law Divya. Dipesh's only unmarried
maternal uncle Jatin is the brother-in-law of
Sunil. Rohan is the paternal uncle of Nisha. Ritu
has two daughters one of whom is Nisha.

14. Which of the following is true ?
(A)
(B) Ravi has only two married children.

Dipesh is Mahesh’s son.

(C) Ravi is the paternal grandfather of
Renu.

(D) None of these.

15. Rashmi is .
(A) Mahesh’s wife

(B) Renu’s aunt

(C) Nisha's Mother

(D) None of these

A/Page 3
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16.

17.

18.

How many married couples are there in
the second generation ?

(A) 1 (B) 2
© 3 (D) 4

Which one of the following is a married
couple ?

(A) Rohan and Ritu

(B) Shalini and Mahesh
(C) Renu and Sunil

(

)
)

D) Mahesh and Ritu
Dipesh is
(A) Mahesh’s son

(B) Ravi's grand son
©)
(D) Sunil’s nephew

Rohan’s son

Direction (19-21) : Read the information given
below and on the basis of the information, select
the correct alternative for each question (19-21)
given after the information.

(@)

(iv)
(v)

Eleven students A, B,C, D, E, F, G, H, I, ]
and K are sitting in a row of the class facing
the teacher.

D, who is to the immediate left to F, is
second to the right of C.

A, is the second to the right of E, who is at
one of the ends.

J is the immediate neighbor of A and B and
third to the left of G.

H is to the immediate left of D and third to
the right of I.

20.

21.

22.

23.

24.

Which of the following statements is true
in the context of the above sitting

arrangement ?
(A) There are three students sitting
between D and G.

(B) G and C are neighbors sitting to
immediate right of H.

(C) Bis sitting between J and L
K is sitting between A and G.

Which of the following groups of friends
is sitting to the right of G ?

(A) IBJA (B) ICHDF
(C) CHDF (D) CHDE

The untimely loss of life is a cause of serious
global concern as thousands of people get
killed accidents every year
while many other die diseases
like cardio vascular disease, cancer, etc.

(A) in, of (B)
(©) during, from (D)

from, of

from, from

“The judge’s standing in the legal
community, though shaken by false
allegations of wrongdoing, remained
" The word that best fills the
blank in the above sentence is :

(A) undiminished (B)
(C) illegal (D)

damaged

uncertain

A certain sum of money amounts to I 6600
in 4 years at a certain rate percent simple
interest. If the rate of interest be increased
by its 25%, the same sum would amount
to I 7000 during the same period. Find

19. Who is sitting in the middle of the row ? the sum.

(A) C B) 1 (A) R 6000 (B) 5500

(€ B (D) G (C) R 5000 (D) % 7000
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25.

26.

27.

28.

29.

Find the missing number :

5] __[2] [12] _[4] (18] _[3]

80 54 ?

5] L[el ] [5] 7] [2]
(A) 46 (B) 15
(C) 55 (D) 32

The length, breadth and height of a room
are in the ratio of 3: 2 : 1. If its volume be
1296 m?, find its breadth.

(A) 12m (B)
(C) 16m (D)

18 m
24 m

The LCM of two numbers is 45 times their
HCF. One number is 125 and the sum of
their HCF and LCM is 1150. Find the
other number.

(A) 275 (B)

(C) 230 (D)

215
225

First bag contains 5 white and 4 black balls.
Second bag contains 7 white and 9 black
balls. A ball is transferred from the first
bag to the second bag and then a ball is
drawn from the second bag. Find the
probability that the ball drawn is white.

(A) 7/18 (B) 5/9
(C) 4/9 (D) 11/18

Which of the following is true ?
(A) logy, 275=1log,q 375
B) log,, 275 > log,q 375

30.

31.

32.

33.

If the numerator of a fraction is increased
by 2 and the denominator is decreased by
1, then it becomes 2/3. If the numerator
is increased by 1 and the denominator is
increased by 2, then it becomes 1/3. Find
the fraction.

(A) 2/9 (B)
© 1/6 (D)

2/7
1/5

Out of 13 applicants for a job there are
5 women and 8 men. Two persons are to
be selected for the job. Find the probability
that at least one of the selected persons will
be a women.

(A) 25/39 (B)
(C) 14/27 (D)

10/21
12/51

In a company ABC Ltd. a certain number
of engineers can develop a design in 40
days. If there were 5 more engineers, it
could be finished in 10 days less. How
many engineers were there in the
beginning ?

(A) 18 (B) 20
(C) 25 (D) 15

Abha can do some work in 10 days, Billu
can do it in 20 days and Chintu can do it
in 40 days. They start working in turns
with Abha starting to work on the first day
followed by Billu on the second day and
by Chintu on the third day and again by
Abha on the fourth day and so on, till the
work is completed fully. Find the time
taken (approx.) to complete the work
fully.

(

(C) logy; 275 < log,q 375 (A) 16 days (B) 15 days

(D) None of these (©) 17 days (D) 20 days
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34.

35.

36.

37.

38.

How many eight letter words can be
formed from the letters of the word
“COURTESY” beginning with C and
ending with Y ?

(A) 120 (B)

(C) 720 (D)

256
750

Choose the most appropriate word from
the options given below to complete the
following sentence: Heis ___
speaker, his discourses are always
informative and inspirational.

(A) an eloquent
(B) an amateur
(C) anovice

(

D) an inarticulate

)
)

log (x+3) +1log (x+5)=1log 35, solve for
X

(A) 1 (B)
© 3 (D)

Given below question has an idiomatic
expression followed by four options.

Choose the one closest to its meaning :
“To smell a rat”

(A) science of plague epidemic
(B) bad smell

(C) suspect foul dealings

(D) to be in a bad mood

The length, breadth and height of a cuboid
are in the ratio 3 : 4 : 5 and its volume is
3840 cm3, The smallest side has a length
of :

(A) 12 cm (B)
(C) 15 cm (D)

20 cm
18 cm

39.

40.

Find the wrong term in the series 5, 11,
29, 83, 245, 765, 2189, 6563 :

(A) 245 (B) 765

(C) 2189 (D) 6563

An aeroplane at an altitude of 3000 m
observes the angles of depression of
opposite points on the two banks of a river
to be 45° and 60° respectively. Find the
width of the river in metre.
(A) 4730 (B) 4430

(C) 4150 (D) 4650

Direction (41-42) : The question below consists
of a pair of related words followed by four pairs
of words. Select the pair that best expresses the
relation in the original pair.

41.

42,

INTIMATE : CLOSE

(A) evanescent : permanency
(B) articulate : speech

(©) enclose : parentheses

(D) obsessed : attracted

QUISLING : BETRAY

(A) appreciate : provoke
(B) inception : termination
(©) juggernaut : crush

(D) obstinate : preserve
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SPACE FOR ROUGH WORK

SA-IT



PART - B 46. Which database design approach is a
bottom-up approach that works on the
TECHNICAL principle of examining the relationship
between attributes ?
(A) Functional dependency
43. Identify the error in the following code : (B) Database modeling
1 class exam (C) Normalization
2 { public : (D) Decomposition
3 virtual void show () = 0;
47. The correct way to round of variable x,
4 7 float to an integer is to write statement :
5 int main (void) (A) y=(int)(x+0.5);
6 {exam e; (B) float y=(float)(x +0.5);
v exam * ep ; (©) int y=int(x+0.5);
D) float y = (int)(x +0.5);
8  return0;) (D) y = (int)( )
(A) compiler error at line 6 and 7 48. The number of modes in which a
(B) compiler error at line 6 transaction may request a Lock in multiple-
' ' granularity Locking is :
(C) compiler error at line 7 (A) Two (B) Three
(D) compiler error at 2, 4 and 6 (C) Five (D) Six
44. Theaddress of a variable temp of type float 49. What will l?e the order of corpplexity _With
is - respect to time of the following function ?
int f int
(A) float &temp int func(int )
{int count = 0;
(B)  float temp& for inti=n,i>0;i/=2)
(C) “*temp for (intj = 0; j<i; j++)
(D) &temp count + =1;
return count;
45. Which of the following is done in the } )
development phase of a software by the (A) Om%) (B)  O(nlogn)
debuggers ? (©) O(n) (D) O(nlogn)
(A) Coding
Bl Testi 50. Which segment do e-Commerce sites like
(B)  Testing Flipkart, Tatacliq belong ?
(C) Implementation (A) B2Bs (B) B2Cs
(D) Debugging (C) C2Bs (D) C2Cs
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51.

52.

53.

54.

With usual notations, the properties of
maxima and minima under various
conditions are

M (I1)
i) rt—s>=0

i) rt—s><0

=

Maxima
Minima
Saddle Point

Case of failure

NS

iii) rt—s>>0,r>0

o~ o~ o~ o~

iv) rt—s>>0,r<0

~ o~ o~ o~ o~ o~ o~ o~
~—~

A) - (P)- @), (Q) - (i), (R) - (iv), (S) - (ii)
B) (P) - (i), (Q) - (i), (R) - (iii), (S) - (iv)
C)  (P) - (iii), (Q) - (iv), (R) - (i), (S) - ()
D) (P)- (i), (Q) - (iii), (R) - (ii), (S) - ()

Which of the following is not a part of the
four main types for e-commerce ?

(A) B2B (B) B2C
(C) C2B (D) C2C

If R and D are the radius and diameter of
the graph K, , then the ordered pair
(R, D) is equal to :

(A) 272 (B)
© 29 (D)

(1, 2)
(1, 3)

Consider following process details
scheduled for execution. Consider
pre-emptive shortest job first scheduling
strategy. Find average waiting time.

Process Arrival Time Burst time
PO 0 8

P1 1 4

P2 2 9

P3 3 5

(A) 6.2 ms (B) 6.5 ms

(C) 5.6 ms (D) 52 ms

55.

56.

57.

58.

59.

The process each manager follows during
the life of a project is known as :

(A) Project Management

B) Project Management Life Cycle
) Manager life cycle

D) All of the mentioned

At the time of sorting an array of size N
by normal selection sort, the number of
comparisons made in first iteration is :

(A) N (B) N-1
(C) Nx(N-1/2) (D) NlogN

Let the predicates D(x, y) mean “team x
defeated team y” and P(x, y) mean “team
x has played team y”. The quantified
formula for the statement that there is a
team that has beaten every team it has
played, is :

(A) FxVy (P(x, y) — D(x, v))
(B)  vady (P(x, y) — D(x, v))
(©) VvyIx (P(x, y) = D(x, v))
(D) 3xVy (D(x, y) = P(x, y))

Block cyphers is defined as :

(A) One that encrypts a digital data
system one bit at a time

(B)  Which treats block of plain text as a
whole

(C) Which treats complete file as a whole
(D) Which treats segmented file

The last index of a string array contains
the null terminated character :

(A) \O (B) \n
(©) \t (D) \1
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60.

61.

62.

63.

64.

In a max heap the smallest key is at :
(A) Root

(B) Leaf
(C) Node
(D) Either root or node

A dummy header is :

(A) A head node in the linked list before
actual data nodes

(B) Header used in dummy operations

(C) Header used to indicate starting of a
stack

(D) Header used to indicate starting of
queue

Turnaround time does not include :

(A) Waiting time

(B) Time spent in IO

(C) Execution time

(D) Time for CPU to cache data transfer

The main measure for efficiency of
algorithm is :

(A) Processor and capacity
(B) Data and time

(C) CPU and RAM

(

D) Time and memory space

In context of Computer Architecture and
Organisation, what does MBR stand for ?

(A) Main Buffer Register
(B) Memory Buffer Routine
(C) Main Buffer Routine
(D) Memory Buffer Register

65.

66.

67.

A complete graph of n nodes will have
number of spanning trees.

(A) nn—2
B 1

© o

(D) n/2

The purpose of analysing an N-Ary
association in databases is :

(A) To capture a
relationship

parent-child

(B) To deal with one to many
relationships

(C) To deal with relationships that
involve more than two tables

(D) To represent an inheritance
relationship

Match the following :

(a) Merge sort (i) Greedy

approach

(b) 8 Queens (i) Dynamic
problem programming

(c) Single source (iii) Divide and
shortest path conquer

(d) Optimal binary (iv) Backtracking
search tree

(A)  ()-(iid), (b)-(iv), ()-(0), (d)-(ii)
(B)  (a)-(iid), (b)-(3), (c)-(iv), (d)-(ii)
(©)  (@)-(id), (b)-(ii), (c)-(iv), (d)-(i)
(D) (@)-(i), (b)-(iv), (c)-(3), (d)-(iii)
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68.

69.

70.

71.

An inverted file :

(A) An Inverted file is an index data
structure that maps content to its
location within a database file, in a
document or in a set of documents.

(B) A file which stores information
about records of a system.

(C) A file which is always in a read only
mode.

(D) None of the options.

A set of activities that ensure that software
correctly implements a specific function is
known as :

(A) Verification

(B) Testing

(C) Implementation
(D) Validation

Which of the following communicates
with server-side CGI scripts through
HTML form submissions and can be
written without the use of JavaScript ?

(A) Static Web Pages

(B) Interactive Web Pages
(C) Conditional Web Pages
(D) All Web Pages

In which of the following node locking
mechanism, if a node is locked, then
explicit locking is being done at a lower
level, with exclusive-mode or shared-mode
locks ?

(A) Intention lock modes

(B) Intention-shared-exclusive mode
(C) Intention-exclusive (IX) mode
(

D) Intention-shared (IS) mode

72.

73.

74.

75.

76.

The grey code for decimal 7 is :
(A) 0111 (B) 1011
(C) 0100 (D) 0101

Consider the function :
int func(int n)

{ints =0;

while (n>1)

{n=n/2;

s++;

}

Return s;

}

What is the asymptotic complexity of this
function with respect to time ?

(A) O(nlogn) (B) O(logn)
(©)  Om'esn) (D) O(2ben)

The binary representation of 36g will be :
(A) 110110 (B) 101101
(C) 001110 (D) 011110

To split a Linked list into smaller and
smaller possible sub-problem and then
solving individual sub problems to get final
answer after joining individual results is :
(A) Greedy algorithms approach

(B) Dynamic programming approach
(C) Divide and Conquer approach

(D) Static programming approach

Which of the following is the correct way
to send mail in HTML ?

(A) <a href = “mailto: xy@y”>
(B) <a href = “xy@y”>
(C
(

) <mail xy@y</mail>
D) <amail = mailtoxy@y
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SPACE FOR ROUGH WORK

SA-IT



77.

78.

79.

80.

81.

Communication between devices of
computer is almost always :

(A) Serial data transfer

(B) Parallel data transfer

(C) Serial parallel data transfer
(

D) Parallel serial data transfer

By default a real number is treated as :
(A) double

(B) single

(C) double precision

(D) depends upon the declaration

Which testing strategy is used to test the
application as a whole ?

(A) Requirement Gathering
(B) Verification testing

(C) Validation testing

(D) System testing

Which of the following is not considered
as a risk in project management ?

(A) Specification delays
(B) Product competition
(C) Testing

(D) Staff turnover

Which of the following terms means that the
data used during the execution of a
transaction cannot be used by a second
transaction until the first one is completed ?

82.

83.

84.

85.

Which of these methods are used to register
a mouse motion listener ?

(A) addMouse()

(B) addMouseListener()
(C) addMouseMotionListner()
(D) eventMouseMotionListener()

The number of comparisons needed to sort
the array :

8,22,7,9,31,19,5,13

In ascending order using bubble sort
method is :

(A) 5040 (B) 1220
(C) 10 (D) 14

What will be the output of the following
code ?

int exam (inta =0, int b =0, int ¢)

{return (a + b+ ¢); }

int main ()

{cout<<exam(100);

return O ; }

(A) 100

(B) 200

© 0

(D) Compiler error

Let C(n, r)= (:l) . The value of

20 .
ok +1) C (41, 2k +1) is::

(A) Consistency (B) Atomicity (A) 40(2)40 (B) 40(2)%7
(C) Durability (D) Isolation (C) 41(2)%0 (D) 41(2)%
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86.

87.

88.

89.

90.

A piece of icon or image on a web page

associated with another webpage is
called :

(A) wurl

(B)  hyperlink
(€) plugin
(

D) none of the above

Which model assumes that systems are
created from reusable components,
scripting or database programming ?

(A) An application-composition model
B) A post-architecture model

(
(C) A reuse model
(D) An early design model

The deployment of telephone lines in city
network that can connect to all city nodes
is:

A) Binary Search Tree
B) AVL Tree

C
D

Spanning Tree

(
(
(
( Height Balanced Search Tree

)
)

Which of the program has the highest run-
time complexity ?

(A) Tower of Hanoi

(B) Fibonacci Series

(C) Prime Number Series
(

)
D) Triangular Series Calculation

The largest number of faces in a simple
connected maximal planar graph with 100
vertices is :

(A) 200 (B)
(C) 196 (D) 96

91.

92.

93.

94.

95.

The two inputs of a NAND gate are
connected together. The resulting circuit
is :

>

(A) OR gate

(B) AND gate
(C©) NOT gate
(D) EX-OR Gate

)

The real root of the equation x3—x—5=0
lying between 1 and 2 after first iteration
by Newton - Raphson method is ,
if initial approximation is taken as
xo=2¢[l, 2] :

(A) 1.909 (B)
(C) 1.921 (D)

1.904
1.940

Let X be uniform random variable on
[0, 4] and Y be uniform random variable
on [0, 1]. If X and Y are independent, then
P(max{X, Y} > 3) is equal to :

(A) 1/4 (B) 1/2
© 1/8 (D) 1

In which of the Computer Architecture,
an external system bus exists ?

(A) Pascal Architecture

(B) Dennis Ritchie Architecture
(C) Charles Babbage Architecture
(D)

D) Von Neumann Architecture

Maximum number of nodes in a binary
tree with height k, where root is height 0,
is :

(A) 2k—1
(B) 2k+1_1
(C) 2k-141
(D) 2k+1
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96.

97.

98.

99.

100.

”% dxdy over the positive quadrant
-y
of the circle x>+y?>=1 is

1

W(N

(A) (B)

W | Ul

5
© - (D)

An algorithm that works to arrange data
in ordered way :

Searching algorithm
B) Merging algorithm
Inverting algorithm

D) Sorting algorithm

In which header file NULL macro is
defined ?

(A) stdio.h and stddef.h
(B) iostream.h
©)
(

D) pre-processor

string.h

Which of the following is not a method of
public key distribution ?

(A)
(B) Public key certificate
©)
(

D) Private announcement

Publically available directory

Public announcement

How many 16K X 1 RAM chips are needed
to provide a memory capacity of
128 K-bytes ?
(A) 8

(C) 16 (D) 64

101.

102.

103.

104.

Breath first traversal of a graph uses
representation of graph in which data
structure ?

queue
B) stack

) list

D) doubly linked list

Calculate the page faults, if 5 number of
frames are required to get the following
sequence of page references : 13, 18, 12,
13, 19, 11, 16, 13, 18, 19, 13, 16, 12, 11, 13
(15 numbers of sequence given) according

to FIFO page replacement and LRU :
(A) Both provide same number of page
faults

FIFO incurs two more page faults
than LRU

FIFO incurs one more page fault
than LRU

LRU incurs two more page faults
than FIFO

Which of the following is not project
management goal ?

(A) Keeping overall costs within budget

(B) Delivering the software to the
customer at the agreed time

(C) Maintaining a happy and well-
functioning development team

(D) Avoiding customer complaints

Which of the following is used for multi
programming ?

(a)
B) Dispatcher

C) Job scheduler

D) Traffic controller

Process scheduler

(
(
(
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105. Express the time complexity of 110. End to end connectivity is provided from
(n—1)*(n—7) in terms of big O notation. host to host in :
(A) O(logn) (B) O(nlogn) A) Network layer
Yy
C) 0O D) O
© @ (B) () (B) Session layer
106. Output for the statement : (€) Data link layer
int a=5; (D) Transport layer
cout<< “Hello”<<(a<<2)<<”Student”;
(A) Hello 52 Student
(B) Hello 25 Hello 111. The database model that consists of
multiple tables which are linked together
(C©)  Hello 50 Student through matching data stored in each table
(D) None of the above is called :
(A) Hierarchical database
107. In HTML5, which of the following tag is
used to initialize the document type ? (B) Network database
(A)  <Doctype HTML> (C) Object oriented database
(B) <\Doctype html>
(C) <Doctype> (D) Relational database
(D) <!DOCTYPE html>
112. If for the matrix A, A3=1 then
108. Which of the following is not true about
Software Validation ? A-l=
(A) Validation ensures the product A A2
under development is as per the user (A)
requirements (B) A3
(B) Validation is carried out at the end
of the SDLC <) A
© Vali'dation emphasizes on user (D) None of these
requirements
(D) Validation do not emphasize on user
requirements
113. The 32 bit internet address 10000000
00001010 00000010 00011110 will be
109. How to create an unordered list (a list with written in dotted decimal notation as :
the list items in bullets) in HTML ?
(A)  <ul> (B) <ol> (A) 148.20.2.30 (B) 210.20.2.64
(©) <li> (D) <i> (C) 164.10.2.61 (D) 128.10.2.30
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114.

115.

What will be the output of the following
C program segment ?

char inchar = 'A’;
switch (inchar)

{

case 'A':

printf ("Choice A\n") ;
case 'B':

printf ("Choice B ") ;
case 'C':
case 'D':

case 'E' : break;

default:
printf ("No Choice") ;

}
(A) No Choice
(B) Choice A

Choice B
(C) Choice A

Choice B No choice
(D) Choice A

class exam {int arr[10]; };
|7
|7
class derived : public el, public e2 {};

class el: public exam {
class e2: public exam {
int main (void)

{cout<< sizeof (derived);

return 0; }

116.

117.

118.

119.

120.

Consider a disk queue with requests for
I/ O to blocks on cylinders 98, 183, 37, 122,
14, 124, 65, 67. The seek time is 4 ms per
cylinder and the disk head is initially at
53. Calculate the total seek time, if the disk
arm scheduling algorithm is SSTF (Shortest
seek time first).

(A) 208 ms
(C) 832 ms

416 ms
944 ms

(B)
(D)

Quality planning is the process of
developing a quality plan for :

(A) Team

(B) Project

(C) Customers

(D) Project manager

Which of the following Boolean algebra
rules is correct ?

(A) AA=1

(B) A+AB=A+B
(C) A(A+B)=B
(D) A+AB=A+B

Consider a situation in which physical
memory contains 62 page frame. How
many number of bits will be required in
physical and logical address, if a memory
management system has 128 pages with
1024 bytes page size ?
(A) 14 and 15

(©) 16 and 17

15 and 16
14 and 16

(B)
(D)

Von Neumann architecture is :

(A) SISD (B) SIMD
assume that an integer takes 16 bits then (C) MIMD (D) MISD
predict output of above code.

(A) 40 (B) 80 —000-
© 0 (D) 4
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